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1) To adjust sliding doors it’s necessary loosen the screws TBC M6x14 that support the same doors
     (look at details “A” and “B”). Then, proceed with adjustment of the door, raising it or lowering it, 
     so that it is in parallel with the leg (look at detail “C”), or, in case of module structure, in parallel
     with the side of structure (look at detail “D”).

2) Once reached the correct position, tighten again the screws TBC M6x14.
 

Door must be in parallel with the leg Screws TBC M6x14

Air between upper guide and 
sliding doors can oscillate 
from a minimum of 1 and a 
maximum of 3 mm
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